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Police Recruitment Test : 2016
4th September 2016, 02:00 PM

Topic:­ English
1)

Question Stimulus :­

Fill in the blank with the correct option.

______ you put the jar back into the cupboard for me, please?

Would

May

Should

Might

Correct Answer :­Would 

2)

Question Stimulus :­

Fill in the blank with the correct option.

I _____ get into these trousers any more. They're far too small for me.

ought to

must

can't

can

Correct Answer :­can't 

3)

Question Stimulus :­

Fill in the blank with the correct option.

Changing the course of the river ______ cause serious environmental damage to the
whole valley.

(2)
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would

must

cannot

might not

Correct Answer :­would 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

The door opened and a nurse came ______the room.

into

in

off

beyond

Correct Answer :­into 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

There were a series of explosions and the van burst _____ flames.

to

for

from

into

Correct Answer :­into 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.
(3)
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The good thing about exercise is that it burns ____ calories.

off

into

to

from

Correct Answer :­off 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

The bells ring ____ regular intervals _____ the day.

at, through

in, from

on, off

for, in

Correct Answer :­at, through 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

The most happy marriage

would be an union of a deaf man

and a blind woman.

No error

Correct Answer :­would be an union of a deaf man 

9)

Question Stimulus :­
(4)
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DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A man is the only creature

that is endowed with

the faculty of reasoning.

No error

Correct Answer :­A man is the only creature 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

It is very difficult to find out

the number of a creatures

living on the earth.

No error

Correct Answer :­the number of a creatures 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If you had warned me,

I would not have told your father

about that party.

No error

Correct Answer :­No error 

12)
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12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If he will ask me

for help,

I will definitely help him.

No error

Correct Answer :­If he will ask me 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Until the train will not

get the signal,

it will not leave the platform.

No error

Correct Answer :­Until the train will not 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Before he could

understand anything,

the robber have fled.

No error

(6)
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Correct Answer :­the robber have fled. 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

It have been raining 

continuously for the

last one week.

No error

Correct Answer :­It have been raining  

16)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the student, “Why are you working so hard”?

The teacher asked the student why he has been working so hard.

The teacher asked the student why is he working so hard.

The teacher asked the student why he had been working so hard.

The teacher asked the student why was he working so hard.

Correct Answer :­The teacher asked the student why was he working so hard. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Mother said to the children, “I have often told you not to play with fire.”

Mother told the children that she has often told them not to play with fire.

Mother told the children that she had often been telling them not to play with fire.

(7)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Mother told the children that she had often told them not to play with fire.

Mother told the children that she have often told them not to play with fire.

Correct Answer :­Mother told the children that she had often told them not to play
with fire. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Neeta asked Meena, “What did you see at the south pole”?

Neeta asked Meena what she saw at the South Pole.

Neeta asked Meena what she has seen at the South Pole.

Neeta asked Meena what she had seen at the South Pole.

Neeta asked Meena what did she see at the South Pole.

Correct Answer :­Neeta asked Meena what she had seen at the South Pole. 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

A massive tribal welfare programme has been launched by the government in
Jharkhand.

The government has launched a massive tribal welfare programme in Jharkhand.

The government had launched a massive tribal welfare programme in Jharkhand.

The government was launching a massive tribal welfare programme in Jharkhand.

The government had been launching a massive tribal welfare programme in
Jharkhand.

Correct Answer :­The government has launched a massive tribal welfare
programme in Jharkhand. 

20)

Question Stimulus :­
(8)
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Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Are they receiving the chief guest at the station?

Has the chief guest been received at the station by them?

Have the chief guest been received at the station by them?

Are the chief guest being received at the station by them?

Is the chief guest being received at the station by them?

Correct Answer :­Is the chief guest being received at the station by them? 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The principal will meet the students this evening.

The students could be met by the Principal this evening.

The students will be met by the Principal this evening.

The students can be met by the Principal this evening.

The students should be met by the Principal this evening.

Correct Answer :­The students will be met by the Principal this evening. 

22)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

When you buy a new computer, you usually get software included at no extra
cost.

When you buy the new computer, you usually get software included at no extra
cost.

When you buy an new computer, you usually get the software included at no extra
cost.

When you buy an new computer, you usually get software included at no extra
cost.

(9)
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Correct Answer :­When you buy a new computer, you usually get software included
at no extra cost. 

23)

Question Stimulus :­

Fill in the blank with the correct option.

There is _____ salt and pepper in that container.

little

a little

the little

a few

Correct Answer :­a little 

24)

Question Stimulus :­

Fill in the blank with the correct option.

The teacher has kept _____ books in the shelf.

few

a few

the few

a little

Correct Answer :­a few 

25)

Question Stimulus :­

Fill in the blank with the correct option.

She passed me ______sauce that was there in the jar.

little

the little

(10)
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a little

the few

Correct Answer :­the little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp‟, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close – fitting jacket, a cane, outsize shoes and a brush – like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

 

What does the word ‘forage’ mean?

Attack someone desperately

Search widely for eatables or provisions

Steam or boil vegetables

None of the above

Correct Answer :­Search widely for eatables or provisions 

27)

(11)
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Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp‟, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close – fitting jacket, a cane, outsize shoes and a brush – like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

 

What was the name of the great character that was created by the renowned
comedian Charlie Chaplin?

Music Hall artist

The great British comedian

The Little Tramp

None of the above

Correct Answer :­The Little Tramp 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp‟, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he

(12)
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found he had created a personality everybody loved. A little guy in a bowler hat, a
close – fitting jacket, a cane, outsize shoes and a brush – like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

 

Which word in the passage means ‘to take hold of something or someone suddenly and
roughly’?

Grabbed

Emerged

Recall

None of the above

Correct Answer :­Grabbed 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp‟, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close – fitting jacket, a cane, outsize shoes and a brush – like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother

(13)
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never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

 

What was the reason of Chaplin’s disturbed childhood?

Separation of his parents and low income of his mother

Psychological illness

Harassment and torture at orphanage

All of the above

Correct Answer :­Separation of his parents and low income of his mother 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp‟, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close – fitting jacket, a cane, outsize shoes and a brush – like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
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motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

 

What does the word ‘acknowledge’ mean?

To contradict

To deny the truth

To accept, admit, or recognize something

None of the above

Correct Answer :­To accept, admit, or recognize something 

Topic:­ Hindi
1)

Question Stimulus :­

िनђिलεखत गϋाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही िवकֽ का चयन कर┼।

अनशुासन बा‌ नही,ं भीतरी िनय╨ंण ह।ै वह भीतर स ेबाधँता ह।ै भीतर स ेबाधँना धम└ स ेसभंव ह।ै धम└ मनुׂש को निैतकता की
ओर ल ेजाता ह।ै वह יε♣गत और सामािजक יवहार के कुछ ऐस ेमापदΏ ▀ּהतु करता ह ैजो हम┼ उŗ संַאार द ेसक┼। ‘‘ּת’’
को ‘‘पर’’ स ेपीछे रखन ेपर ही य ेउŗ संַאार सध सकत ेह╒। इसके िलए आΫतोषी और अपδर╣ही होना आवъ यक ह।ै आधिुनक
िशāा हम┼ आΫबल नही ंदतेी। वह सचूना­मा╨ ही दतेी ह।ै सािहέ और कला को हमन ेिशی प तक सीिमत कर िदया ह।ै हमारा
अЄयन वŵैािनक हो गया ह।ै वŵैािनकता का अथ└ ह ैिवъ लषेणाΫक अЄयन। इस चीरा­फाड़ी म┼ न सािहέ हाथ म┼ पड़ता ह,ै न
कला, न धम└। हम पδरिध पर ही च☺र लगात ेरहत ेह╒। िक आज का िशिāत मनुׂש भीतर स ेअिशिāत ह।ै उसके भीतर एक बड़ा
शРू ह ैजो उस ेबराबर कुरेदता रहता ह ैऔर उसके अह ंको उकसाता रहता ह।ै

 

समाज म┼ धम└ ύारा अनशुासन इसिलए सभंव ह,ै ℓोिंक वह

मनुׂש को मनुׂש स ेपणू└तया जोड़ता ह।ै

को ‘पर’ का अनवुत┬ बनाता है ’תּ

मनुׂש को आΫतोषी एव ंअपδर╣ही बनाता ह।ै

तु करता ह।ैהּ▀ ार दायक मापदडंאवहार म┼ संַי

Correct Answer :י­वहार म┼ संַאार दायक मापदडं ▀ּהतु करता ह।ै 

2)

Question Stimulus :­

िनђिलεखत गϋाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही िवकֽ का चयन कर┼।
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अनशुासन बा‌ नही,ं भीतरी िनय╨ंण ह।ै वह भीतर स ेबाधँता ह।ै भीतर स ेबाधँना धम└ स ेसभंव ह।ै धम└ मनुׂש को निैतकता की
ओर ल ेजाता ह।ै वह יε♣गत और सामािजक יवहार के कुछ ऐस ेमापदΏ ▀ּהतु करता ह ैजो हम┼ उŗ संַאार द ेसक┼। ‘‘ּת’’
को ‘‘पर’’ स ेपीछे रखन ेपर ही य ेउŗ संַאार सध सकत ेह╒। इसके िलए आΫतोषी और अपδर╣ही होना आवъ यक ह।ै आधिुनक
िशāा हम┼ आΫबल नही ंदतेी। वह सचूना­मा╨ ही दतेी ह।ै सािहέ और कला को हमन ेिशی प तक सीिमत कर िदया ह।ै हमारा
अЄयन वŵैािनक हो गया ह।ै वŵैािनकता का अथ└ ह ैिवъ लषेणाΫक अЄयन। इस चीरा­फाड़ी म┼ न सािहέ हाथ म┼ पड़ता ह,ै न
कला, न धम└। हम पδरिध पर ही च☺र लगात ेरहत ेह╒। िक आज का िशिāत मनुׂש भीतर स ेअिशिāत ह।ै उसके भीतर एक बड़ा
शРू ह ैजो उस ेबराबर कुरेदता रहता ह ैऔर उसके अह ंको उकसाता रहता ह।ै

 

आधिुनक िशिāत मनुׂש म┼ ‘अह’ं की उνीεЧ का मġु कारण ह ैउसका­

साāर होन ेपर भी िनरāर होना

साāर होन ेपर भी अο└सэ होना

शРूवाद म┼ गहन िवъ वास होना

अदंर स ेअिशिāत होना

Correct Answer :­अदंर स ेअिशिāत होना 

3)

Question Stimulus :­

िनђिलεखत गϋाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही िवकֽ का चयन कर┼।

अनशुासन बा‌ नही,ं भीतरी िनय╨ंण ह।ै वह भीतर स ेबाधँता ह।ै भीतर स ेबाधँना धम└ स ेसभंव ह।ै धम└ मनुׂש को निैतकता की
ओर ल ेजाता ह।ै वह יε♣गत और सामािजक יवहार के कुछ ऐस ेमापदΏ ▀ּהतु करता ह ैजो हम┼ उŗ संַאार द ेसक┼। ‘‘ּת’’
को ‘‘पर’’ स ेपीछे रखन ेपर ही य ेउŗ संַאार सध सकत ेह╒। इसके िलए आΫतोषी और अपδर╣ही होना आवъ यक ह।ै आधिुनक
िशāा हम┼ आΫबल नही ंदतेी। वह सचूना­मा╨ ही दतेी ह।ै सािहέ और कला को हमन ेिशی प तक सीिमत कर िदया ह।ै हमारा
अЄयन वŵैािनक हो गया ह।ै वŵैािनकता का अथ└ ह ैिवъ लषेणाΫक अЄयन। इस चीरा­फाड़ी म┼ न सािहέ हाथ म┼ पड़ता ह,ै न
कला, न धम└। हम पδरिध पर ही च☺र लगात ेरहत ेह╒। िक आज का िशिāत मनुׂש भीतर स ेअिशिāत ह।ै उसके भीतर एक बड़ा
शРू ह ैजो उस ेबराबर कुरेदता रहता ह ैऔर उसके अह ंको उकसाता रहता ह।ै

 

अवतरण म┼ मिु╪त पदबधं स ेअिभ▀ते ह­ै

िमतיयी न होना

दδर╪ होना

धन­स╣ंही न होना

धनलोलपु होना

Correct Answer :­धन­स╣ंही न होना 

4)

Question Stimulus :­
(16)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


िनђिलεखत गϋाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही िवकֽ का चयन कर┼।

अनशुासन बा‌ नही,ं भीतरी िनय╨ंण ह।ै वह भीतर स ेबाधँता ह।ै भीतर स ेबाधँना धम└ स ेसभंव ह।ै धम└ मनुׂש को निैतकता की
ओर ल ेजाता ह।ै वह יε♣गत और सामािजक יवहार के कुछ ऐस ेमापदΏ ▀ּהतु करता ह ैजो हम┼ उŗ संַאार द ेसक┼। ‘‘ּת’’
को ‘‘पर’’ स ेपीछे रखन ेपर ही य ेउŗ संַאार सध सकत ेह╒। इसके िलए आΫतोषी और अपδर╣ही होना आवъ यक ह।ै आधिुनक
िशāा हम┼ आΫबल नही ंदतेी। वह सचूना­मा╨ ही दतेी ह।ै सािहέ और कला को हमन ेिशی प तक सीिमत कर िदया ह।ै हमारा
अЄयन वŵैािनक हो गया ह।ै वŵैािनकता का अथ└ ह ैिवъ लषेणाΫक अЄयन। इस चीरा­फाड़ी म┼ न सािहέ हाथ म┼ पड़ता ह,ै न
कला, न धम└। हम पδरिध पर ही च☺र लगात ेरहत ेह╒। िक आज का िशिāत मनुׂש भीतर स ेअिशिāत ह।ै उसके भीतर एक बड़ा
शРू ह ैजो उस ेबराबर कुरेदता रहता ह ैऔर उसके अह ंको उकसाता रहता ह।ै

 

उŗ संַאारो ंको साधन ेके िलए आवъ यक ह ैिक मनुׂש ­

िनज स ेपर को अिधक महβ द┼

लोक स ेपरलोक को अिधक महβ द┼

परावलѕन स ेּתावलѕन को अिधक महβ द┼

परािवϋा स ेअपरािवϋा को अिधक महβ द┼

Correct Answer :­िनज स ेपर को अिधक महβ द┼ 

5)

Question Stimulus :­

िनђिलεखत गϋाशं को Єानपवू└क पढ़कर उसके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही िवकֽ का चयन कर┼।

अनशुासन बा‌ नही,ं भीतरी िनय╨ंण ह।ै वह भीतर स ेबाधँता ह।ै भीतर स ेबाधँना धम└ स ेसभंव ह।ै धम└ मनुׂש को निैतकता की
ओर ल ेजाता ह।ै वह יε♣गत और सामािजक יवहार के कुछ ऐस ेमापदΏ ▀ּהतु करता ह ैजो हम┼ उŗ संַאार द ेसक┼। ‘‘ּת’’
को ‘‘पर’’ स ेपीछे रखन ेपर ही य ेउŗ संַאार सध सकत ेह╒। इसके िलए आΫतोषी और अपδर╣ही होना आवъ यक ह।ै आधिुनक
िशāा हम┼ आΫबल नही ंदतेी। वह सचूना­मा╨ ही दतेी ह।ै सािहέ और कला को हमन ेिशی प तक सीिमत कर िदया ह।ै हमारा
अЄयन वŵैािनक हो गया ह।ै वŵैािनकता का अथ└ ह ैिवъ लषेणाΫक अЄयन। इस चीरा­फाड़ी म┼ न सािहέ हाथ म┼ पड़ता ह,ै न
कला, न धम└। हम पδरिध पर ही च☺र लगात ेरहत ेह╒। िक आज का िशिāत मनुׂש भीतर स ेअिशिāत ह।ै उसके भीतर एक बड़ा
शРू ह ैजो उस ेबराबर कुरेदता रहता ह ैऔर उसके अह ंको उकसाता रहता ह।ै

 

आधिुनक िशāा हम┼ आΫबल स ेविंचत रखती ह,ै ℓोिंक वह­

भौितक िवषयो ंका ŵान कराती है

िवषयो ंका सचूी­प╨ तयैार करती है

िवषयो ंकी सचूना­मा╨ दतेी है

िवषयो ंकी सचूी­मा╨ ▀ּהतु करती है

Correct Answer :­िवषयो ंकी सचूना­मा╨ दतेी ह ै

6)
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Question Stimulus :­

िनђिलεखत काיाशं को Єानपवू└क पढ़कर उनके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही सही िवकֽ का चयन कर┼।

 

पव└तो ंको काटकर सड़क┼ बना दते ेह╒ व,े

सकैड़ो ंम╜भिूमयो ंम┼ निदया ँबहा दते ेह╒ व।े

गभ└ म┼ जलरािश के बड़ेा चला दते ेह╒ व,े

जगंलो ंम┼ भी महा­मगंल रचा दते ेह╒ व।े

भदे­नभ­तल का उФोनं ेब╟त बतला िदया,

ह ैउФोनं ेही िनकाली तार की सारी ि╡या।।

सब तरह स ेआज िजतन ेदशे ह ैफूल­ेफल,े

बεुο, िवϋा, धन, वभैव के ह ैजहा ँडरेे डल।े

व ेबनान ेस ेउФी ंके बन गय ेइतन ेभल,े

व ेसभी ह╒ हाथँ स ेऐस ेसपतूो ंके पल।े

लोग जब ऐस,े समय पाकर जनम ल┼ग ेकभी,

दशे की औ, जाित की होगी भलाई भी तभी॥

 

काщ याशं म┼ िकनकी ▀शसंा की गई ह?ै

समοृ दशेो ंकी

कम└वीरो ंकी

भारतवािसयो ंकी

महाप╜ुषो ंकी

Correct Answer :­कम└वीरो ंकी 

7)

Question Stimulus :­

िनђिलεखत काיाशं को Єानपवू└क पढ़कर उनके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही सही िवकֽ का चयन कर┼।

 

पव└तो ंको काटकर सड़क┼ बना दते ेह╒ व,े

सकैड़ो ंम╜भिूमयो ंम┼ निदया ँबहा दते ेह╒ व।े
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गभ└ म┼ जलरािश के बड़ेा चला दते ेह╒ व,े

जगंलो ंम┼ भी महा­मगंल रचा दते ेह╒ व।े

भदे­नभ­तल का उФोनं ेब╟त बतला िदया,

ह ैउФोनं ेही िनकाली तार की सारी ि╡या।।

सब तरह स ेआज िजतन ेदशे ह ैफूल­ेफल,े

बεुο, िवϋा, धन, वभैव के ह ैजहा ँडरेे डल।े

व ेबनान ेस ेउФी ंके बन गय ेइतन ेभल,े

व ेसभी ह╒ हाथँ स ेऐस ेसपतूो ंके पल।े

लोग जब ऐस,े समय पाकर जनम ल┼ग ेकभी,

दशे की औ, जाित की होगी भलाई भी तभी॥

 

‘पव└तो ंको काटकर सड़क┼ बनाना’ का अथ└ ह?ै

‘पव└तो ंको काटकर सड़क┼ बनाना’ का अथ└ ह ै?

िसο प╜ुष होन ेका

पδर▓मी होन ेका

िवचारशील होन ेका

Correct Answer :­पδर▓मी होन ेका 

8)

Question Stimulus :­

िनђिलεखत काיाशं को Єानपवू└क पढ़कर उनके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही सही िवकֽ का चयन कर┼।

 

पव└तो ंको काटकर सड़क┼ बना दते ेह╒ व,े

सकैड़ो ंम╜भिूमयो ंम┼ निदया ँबहा दते ेह╒ व।े

गभ└ म┼ जलरािश के बड़ेा चला दते ेह╒ व,े

जगंलो ंम┼ भी महा­मगंल रचा दते ेह╒ व।े

भदे­नभ­तल का उФोनं ेब╟त बतला िदया,

ह ैउФोनं ेही िनकाली तार की सारी ि╡या।।

सब तरह स ेआज िजतन ेदशे ह ैफूल­ेफल,े

(19)
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बεुο, िवϋा, धन, वभैव के ह ैजहा ँडरेे डल।े

व ेबनान ेस ेउФी ंके बन गय ेइतन ेभल,े

व ेसभी ह╒ हाथँ स ेऐस ेसपतूो ंके पल।े

लोग जब ऐस,े समय पाकर जनम ल┼ग ेकभी,

दशे की औ, जाित की होगी भलाई भी तभी॥

 

किव के मन म┼ सपंК दशेो ंकी सफलता का कारण ह?ै

वहा ँके िनवािसयो ंका धनी होना

वहा ँके िनवािसयो ंका कम└शील होना

वहा ँके िनवािसयो ंका बεुοमान होना

वहा ँके िनवािसयो ंका बεुοमान व धनी होना

Correct Answer :­वहा ँके िनवािसयो ंका कम└शील होना 

9)

Question Stimulus :­

िनђिलεखत काיाशं को Єानपवू└क पढ़कर उनके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही सही िवकֽ का चयन कर┼।

 

पव└तो ंको काटकर सड़क┼ बना दते ेह╒ व,े

सकैड़ो ंम╜भिूमयो ंम┼ निदया ँबहा दते ेह╒ व।े

गभ└ म┼ जलरािश के बड़ेा चला दते ेह╒ व,े

जगंलो ंम┼ भी महा­मगंल रचा दते ेह╒ व।े

भदे­नभ­तल का उФोनं ेब╟त बतला िदया,

ह ैउФोनं ेही िनकाली तार की सारी ि╡या।।

सब तरह स ेआज िजतन ेदशे ह ैफूल­ेफल,े

बεुο, िवϋा, धन, वभैव के ह ैजहा ँडरेे डल।े

व ेबनान ेस ेउФी ंके बन गय ेइतन ेभल,े

व ेसभी ह╒ हाथँ स ेऐस ेसपतूो ंके पल।े

लोग जब ऐस,े समय पाकर जनम ल┼ग ेकभी,

दशे की औ, जाित की होगी भलाई भी तभी॥

(20)
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दशे और जाित का िहत तभी होगा, जब वहा­ँ

परोपकारी जП ल┼गे

बεुοमान जП ल┼गे

पδर▓मी יε♣ जП ल┼गे

महाप╜ुष जП ल┼गे

Correct Answer :­पδर▓मी יε♣ जП ल┼ग े

10)

Question Stimulus :­

िनђिलεखत काיाशं को Єानपवू└क पढ़कर उनके नीच ेिदय ेगय ेब╟िवकֽी ▀ъ नो ंम┼ सही सही िवकֽ का चयन कर┼।

 

पव└तो ंको काटकर सड़क┼ बना दते ेह╒ व,े

सकैड़ो ंम╜भिूमयो ंम┼ निदया ँबहा दते ेह╒ व।े

गभ└ म┼ जलरािश के बड़ेा चला दते ेह╒ व,े

जगंलो ंम┼ भी महा­मगंल रचा दते ेह╒ व।े

भदे­नभ­तल का उФोनं ेब╟त बतला िदया,

ह ैउФोनं ेही िनकाली तार की सारी ि╡या।।

सब तरह स ेआज िजतन ेदशे ह ैफूल­ेफल,े

बεुο, िवϋा, धन, वभैव के ह ैजहा ँडरेे डल।े

व ेबनान ेस ेउФी ंके बन गय ेइतन ेभल,े

व ेसभी ह╒ हाथँ स ेऐस ेसपतूो ंके पल।े

लोग जब ऐस,े समय पाकर जनम ल┼ग ेकभी,

दशे की औ, जाित की होगी भलाई भी तभी॥

 

काщ याशं का उपय♣ु शीष└क होगा?

दशे और जाित का िहत

भारतवािसयो ंकी महानता

कम└वीर
(21)
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समοृ दशेो ंकी गाथा

Correct Answer :­कम└वीर 

11)

Question Stimulus :­

‘‘अलबΟा’’ शک द म┼ कौन­सा उपसग└ ह?ै

औ

अ

अन

अल

Correct Answer :­अल 

12)

Question Stimulus :­

‘‘दरु्’’ उपसग└ िकस शک द समहू म┼ ह?ै

दरुावэथा, ददु└शा

ददु└शा, दुֹוाहस

दःुसाЄ, दरुवэथा

दलु└भ, दУुाЭ

Correct Answer :­दरुावэथा, ददु└शा 

13)

Question Stimulus :­

िदय ेगय ेवा۵ याशं के िलए एक शک द का ▀योग कीिजए­

‘जो श╨ ुकी हέा करता ह।ै’

श╨Ņु

नъ वर

जПाधं

िनद└य
(22)
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Correct Answer :­श╨Ņु 

14)

Question Stimulus :­

‘अनमुित’ शک द के िलए वा۵ याशं का चयन कीिजए­

िकसी काय└ की आŵा दनेा

िकसी काय└ के िलए िनद═श दनेा

िकसी काय└ के िलए आदशे दनेा

िकसी काय└ के िलए सहमित दनेा

Correct Answer :­िकसी काय└ के िलए सहमित दनेा 

15)

Question Stimulus :­

‘फासँी’ शک द म┼ कौन­सा ▀έय ह?ै

इत्

ई

इया

इ

Correct Answer :­ई 

16)

Question Stimulus :­

‘कृदЋ’ ▀έय िकन शоो ंके साथ जड़ुत ेह╒ ?

सŵंा

सव└नाम

िवशषेण

ि╡या

Correct Answer :­ि╡या 

17)
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17)

Question Stimulus :­

‘िबŜू’ का तγम शک द पहचािनए­

बЄुते

िव╡यण

विृמक

विृΟक

Correct Answer :­विृמक 

18)

Question Stimulus :­

तψव­तγम यĵु म┼ कोई एक यĵु गलत ह,ै गलत यĵु का चयन कीिजए?

बΟी­वित└का

बिनया­विणक

पौ╨­पौ╨ी

ब╟­वधु

Correct Answer :­पौ╨­पौ╨ी 

19)

Question Stimulus :­

‘चोर’ का िवपरीताथ└क शک द ह­ै

चोरी िछपे

सीना जोरी

साह

सा╠कारी

Correct Answer :­साह 

20)

Question Stimulus :­
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िनђ म┼ स ेकोई एक पया└यवाची समहू सही ह,ै उसका चयन कीिजए­

पतो╟, ब╟, वध,ु प╨ुवधु

प╨, पΣर, खत, प╨ा

पथ, पानी, राह, डगर

पΟा, पित, पिΤ, पण└

Correct Answer :­पतो╟, ब╟, वध,ु प╨ुवध ु

21)

Question Stimulus :­

‘गणना­गड़ना’ शک द­यĵु के सही अथ└­भदे का चयन कीिजए­

सġंा­दबाना

िगनती­चभुना

जोड़ना­घटाना

योग­भोग

Correct Answer :­िगनती­चभुना 

22)

Question Stimulus :­

‘िन╛पाय’ शک द का सिंध िवŜदे ह­ै

िन + उपाय

िनर + उपाय

िनः + उपाय

िन╜ + पाय

Correct Answer :­िनः + उपाय 

23)

Question Stimulus :­

‘हδरьच╪ं’ शک द म┼ सिंध होगी­

र सिंधתּ
(25)
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जंन सिंधי

िवसग└ सिंध

इनम┼ स ेकोई नहीं

Correct Answer :­िवसग└ सिंध 

24)

Question Stimulus :­

‘यथासाЄ’ शک द म┼ समास ह­ै

िύग ुसमास

ύύं समास

अיयीभाव समास

इनम┼ स ेकोई नहीं

Correct Answer :­अיयीभाव समास 

25)

Question Stimulus :­

‘कालीिमच└’ शک द म┼ कौन­सा समास ह­ै

ύύं समास

कम└धारय समास

अיयीभाव समास

ब╟█ीिह समास

Correct Answer :­कम└धारय समास 

26)

Question Stimulus :­

अनकेाथ└क शک द ‘हार’ के िलए िनђ म┼ स ेगलत िवकֽ का चयन कीिजए­

पराजय

माला

(26)
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िवहार

गल ेका आभषूण

Correct Answer :­िवहार 

27)

Question Stimulus :­

अनकेाथ└क शک द ‘पानी’ के िलए िनђ म┼ स ेगलत िवकֽ का चयन कीिजए­

इŬत

चमक

सजंीवनी

जल

Correct Answer :­सजंीवनी 

28)

Question Stimulus :­

िनђ िवकֽो ंम┼ स ेएक वाℓ सही ह,ै सही वाℓ का चयन कीिजए­

आपको आश┬वाद की आवъ यकता है

आपका आश┬वाद अवъ यकीय है

आपके आश┬वाद आवъ यक है

आपका आश┬वाद आवъ यक है

Correct Answer :­आपका आश┬वाद आवъ यक ह ै

29)

Question Stimulus :­

िनђ म┼ स ेएक वाℓ गलत ह,ै गलत वाℓ का चयन कीिजए­

वह तґुारा कुΟा है

यवुावэथा उПΟ होती है

दूध म┼ कौन पड़ गया

(27)
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म╒ रातभर जागता रहा

Correct Answer :­दूध म┼ कौन पड़ गया 

30)

Question Stimulus :­

‘‘मझु ेिवъ वास ह ैिक आप अवъ य आय┼ग’े’ म┼ वाℓ का ▀कार पहचािनए­

सरल वाℓ

िम▓ वाℓ

सयं♣ु वाℓ

इनम┼ स ेकोई नहीं

Correct Answer :­िम▓ वाℓ 

31)

Question Stimulus :­

िनђ म┼ स ेसाधारण वाℓ का चयन कीिजए­

म╒ आपस ेसहमत नही ं╠ँ

म╒ आपस ेसहमत ╠ँ

म╒ आपस ेकैस ेसहमत हो सकता ╠ँ

म╒ आपस ेन सहमत ╠ ँन असहमत ╠ँ

Correct Answer :­म╒ आपस ेसहमत ╠ ँ

32)

Question Stimulus :­

िनђ म┼ शοु वत└नी पहचािनए­

िछपिकली

उजयाला

रचियता

यिुध״र

(28)
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Correct Answer :­रचियता 

33)

Question Stimulus :­

िनђ म┼ अशοु वत└नी पहचािनए­

उधारण

भामनी

भावना

भारोΟोलन

Correct Answer :­उधारण 

34)

Question Stimulus :­

‘‘आखँ का अधंा नाम नयनसखु’’ लोकोε♣ का अथ└ ह­ै

अधंो ंको आखँ होना

आखँ की ǿोित का जाना

गणु के िवपरीत नाम

हर चीज का कारण होना

Correct Answer :­गणु के िवपरीत नाम 

35)

Question Stimulus :­

‘‘चमड़ी जाय ेपर दमड़ी न जाए’’ लोकोε♣ का अथ└ ह­ै

कठोर ▓म करना

ब╟त कंजसू होना

सदा गरीबी म┼ रहना

धन को तŜु समझना

Correct Answer :­ब╟त कंजसू होना 

36)
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36)

Question Stimulus :­

‘‘िकसी स ेकोई सबंधं न रखना’’ अथ└ िकस लोकोε♣ म┼ िनिहत ह­ै

ढ़ोल म┼ पोल

ढाक के तीन पात

यथा राजा तथा ▀जा

लनेा एक न दनेा दो

Correct Answer :­लनेा एक न दनेा दो 

37)

Question Stimulus :­

िनђ अनŜुदे का सāंपेण कीिजए­

‘‘मन स ेहारा ╟आ יε♣ कोई भी काय└ या सघंष└ करन ेस ेपहल ेहार जाता ह।ै वह अपनी सफलता का िवъ वास नही ंसजँो पाता। मन
म┼ हारन ेका भय मनुׂש को भयभीत कर दतेा ह।ै भयभीत आदमी िहचक­िहचककर और ╜क­╜ककर काम करता ह।ै वह अपने
आप को परूी शε♣ स ेलĉ म┼ झौकं नही ंपाता। पδरणाम ℓा होता ह ैिक उसके हाथ ढील ेपड़ जात ेह╒, प╒रो ंकी गित ढीली पड़
जाती ह╒। अतः יε♣ अपिेāत सफलता नही ंपा पाता। इसके िवपरीत जो יε♣ आΫिवъ वास के साथ मदैान म┼ उतरता ह,ै उसके
िबगड़ ेकाम सवँर जात ेह╒।’’

सघंष└ ही जीवन है

दया धम└ का मलू है

साचँ को आचँ नहीं

मन के हारे हार ह ैमन के जीत ेजीत

Correct Answer :­मन के हारे हार ह ैमन के जीत ेजीत 

38)

Question Stimulus :­

िनђ पहलेी के सही उΟर का चयन कीिजए­

अटक चली मटक चली, पिहर चली झयैा।ं

ऐसी खसम की लाड़ली, चढ़ चली कैया।ं

ढाल

फरसा

तलवार

(30)
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कुוाड़ी

Correct Answer :­तलवार 

39)

Question Stimulus :­

िनђ पहलेी के सही उΟर का चयन कीिजए­

“लाल बलै खड़ ेह,े कδरया बलैा भागत ह।े”

ओला

नाδरयल

आग और धुँआ

इनम┼ स ेकोई नहीं

Correct Answer :­आग और धुँआ 

40)

Question Stimulus :­

CANCELLED

िनђिलεखत म┼ स ेिकस े‘काיछंद’ कहा गया ह?ै

मनहर

मΟगयदं

सवयैा

रोला

Correct Answer :­रोला 

41)

Question Stimulus :­

िनђिलεखत म┼ स ेकौन­सा, छंद का सघंटक तβ नही ंह­ै

╡म

गण

यित

(31)
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रित

Correct Answer :­रित 

42)

Question Stimulus :­

राǿ म┼ सवा└िधक ▀सार सġंा वाला समाचार प╨ वत└मान म┼ कौन­सा ह?ै

नई दिुनया

रंगभिूम

दिैनक भाַאर

नवभारत

Correct Answer :­दिैनक भाַאर 

43)

Question Stimulus :­

मЄ▀दशे स ेिनकलन ेवाली एकमा╨ खले पि╨का ह­ै

खले हलचल

ोट└स ्टडुेמּ

खले­खले म┼

खले יाġान

Correct Answer :­खले हलचल 

44)

Question Stimulus :­

लखेको ंके उपनाम िकस िवराम िचФ के भीतर िलख ेजात ेह╒?

को״क

िनद═श िचФ

दोहरा उοरण िचФ

इकहरा उοरण िचФ

(32)
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Correct Answer :­इकहरा उοरण िचФ 

45)

Question Stimulus :­

िनђ िलεखत 6 वाℓाशंो ंम┼ स े▀थम व अिंतम िनिמत ह╒, शषे को उिचत ╡म म┼ יवεэथत कीिजए।

(1) िनराला जी न ेकेवल

(य) किवताएँ ही नही ंिलखी

(र) म┼ भी शासन के िव╜ο

(ल) अिपत ुसािहέ की अР िवधाओं

(व) िविभК नामो ंसे

(6) अपनी कलम चलाई

य र ल व

य ल र व

व ल र य

ल र य व

Correct Answer :­य ल र व 

46)

Question Stimulus :­

िनђ िलεखत 6 वाℓाशंो ंम┼ स े▀थम व अिंतम िनिמत ह╒, शषे को उिचत ╡म म┼ יवεэथत कीिजए।

(1) यनूािनयो ंके िलए

(य) िवŵान और दश└न म┼

(र) ℓोिंक सभी दश└िनक

(ल) भौितक ससंार के ּת╜प को

(व) कोई अतंर नही ंथा

(6) बदलन ेका ▀यΤ करत ेथे

ल र व य

र ल य व

व य ल र

(33)
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य व र ल

Correct Answer :­य व र ल 

47)

Question Stimulus :­

‘िवम♣ु करना’ या ‘छूट दनेा’ के िलए उपय♣ु शک द ह­ै

Execution

Exempt

Exemption

Exhibition

Correct Answer :­Exempt 

48)

Question Stimulus :­

‘Amendment’ के िलए उपय♣ु शک द ह­ै

पδरवत└न

परामश└

सशंोधन

िविनय╨ंण

Correct Answer :­सशंोधन 

49)

Question Stimulus :­

मिैथली भाषा की िलिप कौन­सी ह?ै

उदू└

दवेनागरी

सृंַאत

बागं╜

(34)
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Correct Answer :­दवेनागरी 

50)

Question Stimulus :­

िकस ā╨े की बोली को कािसका कहा गया ह?ै

बासँवाड़ा

आरा­भोजपरु

बनारस

मगध

Correct Answer :­बनारस 

51)

Question Stimulus :­

सگ पादक के नाम प╨ म┼ सگ बोधन के िलए ............... शک द का ▀योग िकया जाता ह।ै

प준ूက यनीय

▓οये

महोदय

ि▀य

Correct Answer :­महोदय 

52)

Question Stimulus :­

िकसी सजीव या िनज┬व पदाथ└ का वण└न ................. िनबپ ध कहलाता ह।ै

िववरणाѝ मक

िवचाराѝ मक

वण└नाѝ मक

भावाѝ मक

Correct Answer :­वण└नाѝ मक 

53)
(35)
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53)

Question Stimulus :­

..................... के अनसुार िनबپ ध का उνъे य मन की उپ म۵ु त उड़ान, रसाэ वादन, सौپ दय└ की खोज और आनپ द का बोध ह।ै

आचाय└ रामचپ ╪ श۵ु ल

डॉ. जॉپ सन

डॉ. पृپ वीनाथ पाй डये

बेپ सन

Correct Answer :­डॉ. पृپ वीनाथ पाй डये 

54)

Question Stimulus :­

“मѝृ युंजय” रचना के रचनाकार का नाम चिुनए­

सवल िम▓

अŵये

रायदवेी ▀साद

नरेश महेता

Correct Answer :­रायदवेी ▀साद 

55)

Question Stimulus :­

“मεु♣ बोध” की कहानी स╣ंह िनگ न म┼ स ेह­ै

दशे भ۵ त

▀ायिמत

सातमी के ब꣰က चे

काठ का सपना

Correct Answer :­काठ का सपना 

56)

Question Stimulus :­

(36)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


दोहा, चौपाई, सवयैा, सोरठा आिद की ▀थमावली के अतं म┼ िनђ म┼ स ेकौन­सा िवराम िचФ ▀योग होता ह?ै

अֽ िवराम

अο└ िवराम

पणू└ िवराम

िवּפयािद बोधक

Correct Answer :­पणू└ िवराम 

57)

Question Stimulus :­

“▀ात:काल” िनگ न म┼ स ेिकस महुावरे का अथ└ ह?ै

अधंरेे मुँह

िदन डूबे

भरी दपुहरी

इनम┼ स ेकोई नहीं

Correct Answer :­अधंरेे मुँह 

58)

Question Stimulus :­

‘एक हाथ स ेताली नही ंबजती’ का सही अथ└ ह­ै

एक हाथ म┼ शε♣ नही ंहोती

िम╨ता दोनो ंओर स ेहोती है

एक ओर स ेझगड़ा कभी नही ंहोता

उपरो♣ सभी

Correct Answer :­एक ओर स ेझगड़ा कभी नही ंहोता 

59)

Question Stimulus :­

अन▀ुास और पनु╜ε♣ ▀काश अलकंार का उदाहरण ह­ै

“मखु च╪ंमा ह।ै”
(37)
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“चरण कमल बदंौ हδर राई।”

“पीपर पात सδरस मन डोला।”

“पात भरी सहरी, सकल सतु बारे­बारे।”

Correct Answer :­“पात भरी सहरी, सकल सतु बारे­बारे।” 

60)

Question Stimulus :­

“सतं ╞दय नवनीत समाना, कहा किवन प ैकहन न जाना” उदाहरण ह­ै

अितъ योε♣ अलकंार का

िवभावना अलकंार का

щ यितरेक अलकंार का

िवरोधाभास अलकंार का

Correct Answer :­щ यितरेक अलकंार का 

61)

Question Stimulus :­

“मयैा कविह ंबढ़गेी चोटी।

िकती बार मोिह दूध िपअत भई, यह अज╠ ँह ैछोटी।।

त ूजो कहित बल की बनेी 준က यौ,ं ह ैह ैलाबँी मोटी।

काढ़त गहुत پ हवावत ओछत, नािगिन­सी भइु ँलोटी।।”

 

िकस रस का उदाहरण ह­ै

सयंोग ▓ृंगार रस

वाѝ सی य रस

िवयोग ▓ृंगार रस

इनम┼ स ेकोई नहीं

Correct Answer :­वाѝ सی य रस 

62)

(38)
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Question Stimulus :­

माधयु└ गणु ▀ाय: िकस रस म┼ रहता ह?ै

▓ृंगार रस

क╛ण रस

शातं रस

उपय└ु۵ त सभी

Correct Answer :­उपय└ु۵ त सभी 

63)

Question Stimulus :­

‘देיथ└’ का सिंध िवŜदे होगा­

दवेी+अथ└

दवे+अथ└

दवे+יथ└

दवेी+יथ└

Correct Answer :­दवेी+अथ└ 

64)

Question Stimulus :­

‘श‘ वण└ ह­ै

तालי

मοू└Р

दέं

ओь⅞

Correct Answer :­तालי 

65)

Question Stimulus :­

CANCELLED
(39)
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तालי वण╗ की सġंा ह­ै

5

9

11

7

Correct Answer :­9 

66)

Question Stimulus :­

‘दशेाप└ण’ म┼ समास ह­ै

करण तѝ प╛ुष

स▀ंदान तѝ प╛ुष

अपादान तѝ प╛ुष

कम└ तѝ प╛ुष

Correct Answer :­स▀ंदान तѝ प╛ुष 

67)

Question Stimulus :­

िनђ शо­यĵु के िवकֽो ंम┼ स ेसही अथ└­भदे का चयन कीिजए­

‘तप­तЭ’

तप­तथागत

सयंम­िनयम

तपּקा­िशव

सयंम­िशव

Correct Answer :­तपּקा­िशव 

68)

Question Stimulus :­

िकस समहू म┼ सभी शо ‘उΖष└‘ के पया└यवाची ह╒?

(40)
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उКत, अלप, उΣान, िवकास

▀गित, उΟम, ▀शसंा, उदय

उΣान तर☺ी, अэदुय, समεृο

आलोक, उКत, ▓ीवεृο, ▀काश

Correct Answer :­उΣान तर☺ी, अэदुय, समεृο 

69)

Question Stimulus :­

‘िनभ└य’ का िवलोम चिुनय:े­

अभय

िनडर

िनभ┬क

इनम┼ स ेकोई नहीं

Correct Answer :­इनम┼ स ेकोई नही ं

70)

Question Stimulus :­

..............., िसिंध सािहέ की ▀थम रचना ह।ै

रामायण

महाभारत

सरू सागर

ग╛ुमखुी

Correct Answer :­महाभारत 

Topic:­ General Knowledge 
1)

Question Stimulus :­

A person cannot lose citizenship through ________. / एक יε♣ ________ के माЄम स ेनागδरकता नही ंखो
सकता ह।ै

(41)
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Foreign adoption / िवदशेी अगंीकरण

Renunciation / έजन

Acquisition of another citizenship / िकसी अР नागδरकता के अिध╣हण

Individual ability / יε♣गत āमता

Correct Answer :­Individual ability / יε♣गत āमता 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: / िनђ को
िमलाएँ और नीच ेिदए गए कोडो ंम┼ स ेसही उΟर का चयन कर┼:

    List­I                    List­II

1. Karnataka            a. Lohri

2. Tamil Nadu           b. Ganesh Chaturthi

3. Maharashtra         c. Pongal

4. Punjab                  d. Mysore Dasara

    सिूच­I                      सिूच­II

1. कना└टक                  a. लोहरी

2. तिमलनाड ु               b. गणशे चतथु┬

3. महाराױ├                  c. पोगंल

4. पजंाब                     d. मसैरू दशहरा

1­d, 2­c, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­c, 2­d, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

Which among the following is the actual shape of Earth? / िनђ म┼ स ेवाּהव म┼ पκृी का आकार कौन सा ह?ै

(42)
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Square / वग└

Oblate spheroid / लґवā गोलाभ

Rectangular / आयात

Circle / वΟृाकार ( गोल)

Correct Answer :­Oblate spheroid / लґवā गोलाभ 

4)

Question Stimulus :­

Which of these cannot be the same for two different persons? / इनम┼ स ेकौन सा लāण दो अलग יε♣यो ंम┼ समान
नही ंहो सकता?

Skin Colour / चम└ का रंग

Fingerprints / अगंलुी छाप

Eye colour / आखँ का रंग

Blood Group / र♣ वग└

Correct Answer :­Fingerprints / अगंलुी छाप 

5)

Question Stimulus :­

Most powerful computer is _______. / सबस ेअिधक शε♣शाली कंЭटूर _______ ह|ै

Micro computer / माइ╡ो कंЭटूर

Laptop computer / लपैटॉप कंЭटूर

Super computer / सपुर कंЭटूर

4G computer / 4G कंЭटूर

Correct Answer :­Super computer / सपुर कंЭटूर 

6)

Question Stimulus :­

Where was the first atomic power staĕon in India established? / भारत म┼ ▀थम परमाण ुऊजा└ ּדशेन कहा ँэथािपत िकया
गया था?
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Tarapur / तारापरु

Thane / ठाणे

Trombay / ट├ॉѕे

Surat  / सरूत

Correct Answer :­Tarapur / तारापरु 

7)

Question Stimulus :­

India’s permanent research station ‘Dakshin Gangotri’ is situated in ________. / भारत का
эथायी अनसुधंान केД ‘दिāण गगंो╨ी’ ________ म┼ εэथत ह|ै

Great Himalayas / िवशाल िहमालय

Indian Ocean / िहГ महासागर

Antarctica / अЉाक└िटका

Arabian Sea / अरब सागर

Correct Answer :­Antarctica / अЉाक└िटका 

8)

Question Stimulus :­

Kerala state is famous for which dance? / कौन सा नέृ केरल म┼ ▀िसο ह?ै

Break dance / █के डासँ

Kathakali / कथकली

Dandia / डािंडया

Kathak / कथक

Correct Answer :­Kathakali / कथकली 

9)

Question Stimulus :­

The Varanasi ­ Kanyakumari National Highway is ____________. /  वाराणसी कРाकुमारी राױ├ीय
राजमाग└ ह ै____________
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NH ­ 15

NH ­ 2

NH ­ 7

NH ­ 47

Correct Answer :­NH ­ 7 

10)

Question Stimulus :­

Which of the following States is on the border of Kerala? / िनђ म┼ स ेकौन सा राǿ केरल की सीमा पर ह?ै

Maharashtra/ महाराױ├

Goa / गोवा

Tamil Nadu / तिमल नाडु

Andhra Pradesh / आ╫ं ▀दशे

Correct Answer :­Tamil Nadu / तिमल नाड ु

11)

Question Stimulus :­

Which of the following city is called as the Royal city? / िनђ म┼ स ेकौन सा शहर रॉयल िसटी के नाम से
जाना जाता ह?ै

Patiala / पिटयाला

Shimla / िशमला

Darjeeling / दािज└िलगं

Mussoorie / मसरूी

Correct Answer :­Patiala / पिटयाला 

12)

Question Stimulus :­

The extensive coffee plantations in Brazil are called _____________/ █ाज़ील म┼ िवּהीण└ कॉफ़ी खतेी___________कही जाती
ह╒।
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Fazendas / फ़ज़┼डस

Corrals / कोर└ה

Estancias / एּדािंसयस

Trasil / ट├ािसल

Correct Answer :­Fazendas / फ़ज़┼डस 

13)

Question Stimulus :­

Who among the following players is NOT related to Tennis? / िनђ म┼ स ेकौन सा εखलाड़ी टनेीस स ेसѕεЖत नहीं
ह?ै

Martina Hingis / मािट└ना िहिगस

Venus Williams / वीनस वीलीयҐ

Andy Murray / एंडी मरे

Tiger Woods / टाइगर वडुस्

Correct Answer :­Tiger Woods / टाइगर वडुस् 

14)

Question Stimulus :­

Which game is related to Agha Khan Cup? / कौन सा खले आग़ा ख़ान कप स ेजड़ुा ╟आ ह?ै

Hockey / हॉकी

Chess / चसै

Cricket / ि╡केट

Volleyball / वालीबॉल

Correct Answer :­Hockey / हॉकी 

15)

Question Stimulus :­

Srikanth Kidambi is an Indian badminton player, who became the first Indian male to win gold at the 2015 Swiss
Open Grand Prix Gold by defeating ______ / ▓ीकातं िकदाबंी एक भारतीय बडैिमटंन εखलाड़ी ह╒, जो 2015 म┼ εּתस
ओपन ╣ाडं ि▀ċ गोֵ म┼ ּתण└ जीतन ेवाल ेपहल ेभारतीय बन ेथ।े उФोनं ेउस मचै म┼ िकस ेहराया था?
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Iskandar Zulkarnain Zainuddin / इַאГर जलुकरननै ज़नैνुीन

Huang Yuxiang / ╟आगं िज़यान

Prannoy Kumar / ▀Кोय कुमार

Viktor Axelsen / िव♂र एċेהन

Correct Answer :­Viktor Axelsen / िव♂र एċेהन 

16)

Question Stimulus :­

Tennis star Roger Federer hails from_______. / टिेनस ּדार रोजर फेडरर _______ के िनवासी ह╒।

The USA / अमरेीका

France / ▄ासं

Switzerland / εּתटज्रल╒ड

The UK / ि█टने

Correct Answer :­Switzerland / εּתटज्रल╒ड 

17)

Question Stimulus :­

Who is the first Indian woman chess player to cross 2600 ELO rating? / 2600
ELO  रेिटगं पार करन ेवाली पहली भारतीय मिहला शतरंज εखलाड़ी कौन ह?ै

Sania Mirza / सािनया िमजा└

Tania Sachdev / तािनया सचदवे

Saina Nehwal / साईना नहेवाल

Koneru Humpy / कोन╜े हѓी

Correct Answer :­Koneru Humpy / कोन╜े हѓी 

18)

Question Stimulus :­

An indirect instrument of monetary policy is _____/ आिथ└क नीित का अ▀έā माЄम ह?ै

Bank Rate / ब╒क अनपुात
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Repo Rate / δरपो अनपुात

Open Market Operation / खलुा बाजार सگचालन

None of these / इनम┼ स ेकोई नहीं

Correct Answer :­Open Market Operation / खलुा बाजार सگचालन 

19)

Question Stimulus :­

Which among the following is also called Green Gold / िनђ म┼ स ेिकस ेहरा सोना भी कहा जाता है

Coconut / नाδरयल

Sugarcane / गКा

Coffee / कॉफ़ी

Tea / चाय

Correct Answer :­Tea / चाय 

20)

Question Stimulus :­

Who is the current Chairperson of the State Bank of India? / भारतीय ּדटे ब╒क के वत└मान अЄā कौन ह?ै

Smt. Arundhati Bhattacharya / ▓ीमती अ╛ंधती भ‛ाचाय└

MS Raghavan / एम एस राघवन

Vijaylakshmi R. Iyer / िवजयलĈी आर. अ―र

Kishore Kumar Sansi / िकशोर कुमार सासंी

Correct Answer :­Smt. Arundhati Bhattacharya / ▓ीमती अ╛ंधती भ‛ाचाय└ 

21)

Question Stimulus :­

Who is the director of the famous Bollywood movie “Sholay”? / ▀िसο बॉलीवडु िफׁ ‘शोल’े के िनद═शक कौन ह╒?

Ramesh Sippy / रमशे िसЪी

Ram Gopal Verma / राम गोपाल वमा└
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Yash Chopra / यश चोपड़ा

Karan Johar / करण जौहर

Correct Answer :­Ramesh Sippy / रमशे िसЪी 

22)

Question Stimulus :­

Which Indian soldier was known for using the slogan of ‘Ye Dil Maange More’ as a signal? / कौन स ेभारतीय सिैनक
▀तीक के ╜प म┼ ‘य ेिदल मागँ ेमोर’ नारे का ▀योग करन ेके िलए जान ेगय ेथ?े

Lance Naik Hanumantappa / लासं नायक हनमुानटЪा

Sam Manekshaw / समै मानकेशॉ

Captain Vikram Batra / कЧान िव╡म ब╨ा

FM Kariappa / एफएम कδरअЪा

Correct Answer :­Captain Vikram Batra / कЧान िव╡म ब╨ा 

23)

Question Stimulus :­

Who coined the term “Cyberspace”? / ‘साइबरּמसे’ शо िकसन ेिनिम└त िकया?

Larry Page / लरेी पजे

Bill Gates / िबल गटेस्

William Gibson / िविलयम िगыन

Steve Jobs / ּדीव जॉы

Correct Answer :­William Gibson / िविलयम िगыन 

24)

Question Stimulus :­

Who among the following Pakistani Presidents called Milkha Singh “The Flying Sikh”? / िनђ
पािकּהान के राױ├पित म┼ स ेिकसन ेिमְा िसहं को 'иाइगं िसख' कहा?

Ayub Khan / अयबू खान

Yahya Khan / या‌ा खान
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Pervez Musharraf / परवज़े मशुर└फ़

Benazir Bhutto / बनेज़ीर भ‛ुो

Correct Answer :­Ayub Khan / अयबू खान 

25)

Question Stimulus :­

Who was the first Indian to win the Mr. World title in 2016? / 2016 म┼ िमּדर वֵ└ उपािध जीतनवेाल े▀थम
भारतीय कौन थ?े

Rohit Khandelwal / रोिहत खडंलेवाल

Aldo Esparza / अֵो एּמाज़ा└

Raman Khandelwal / रमन खडंलेवाल

Ranganath Khandelwal / रंगनाथ खडंलेवाल

Correct Answer :­Rohit Khandelwal / रोिहत खडंलेवाल 

26)

Question Stimulus :­

The official playing time of the Indian National Anthem is approximately_____. / भारतीय
राױ├ीय गान की आिधकाδरक गायन की अविध ह ैलगभग____

1 minute 2 secs / 1 िमनट 2 सकेंड

52 secs / 52 सकेंड

1 minute / 1 िमनट

42 secs / 42 सकेंड

Correct Answer :­52 secs / 52 सकेंड 

27)

Question Stimulus :­

Which among the following is highest designation in Indian Navy? / िनђिलεखत म┼ स ेभारतीय नौसनेा म┼ सव╕ŗ पद
कौन सा ह?ै

Lieutenant / लεेгनЉे

Commander / कमाडंर
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Captain / कैЦन

Admiral / ऐडिमरल

Correct Answer :­Admiral / ऐडिमरल 

28)

Question Stimulus :­

How many women Prime Minister/s has India had? / आज तक भारत की िकतनी मिहला ▀धानम╨ंी रही
ह╒?

2

3

1

None of these / इनम┼ स ेकाई नहीं

Correct Answer :­1 

29)

Question Stimulus :­

Gandhiji wanted that the students should spend their vacations in_________. / गाधंीजी चाहत ेथ ेिक छा╨ो ंको
_________ म┼ अपनी छु‛ीया ंिबतानी चािहए।

Sports / खले

Studies / पढ़ाई

Social service / समाज सवेा

Tour / या╨ा

Correct Answer :­Social service / समाज सवेा 

30)

Question Stimulus :­

Who is known as the Iron Man of India? / भारत के लौह प╜ुष के ╜प म┼ कौन जाना जाता ह?ै

Sardar Vallabhai Patel / सरदार व׃भभाई पटले

Morarji Desai / मोरारजी दसेाई
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PV Narsimha Rao / पीवी नरिसґा राव

Atal Bihari Vajpayee / अटल िबहारी वाजपयेी

Correct Answer :­Sardar Vallabhai Patel / सरदार व׃भभाई पटले 

31)

Question Stimulus :­

If you landed at Sardar Vallabhbhai Patel Airport, which city would you have landed in? / यिद आप सरदार
व׃भभाई पटले हवाई अ` ेपर उतरत ेह╒, तो आप िकस शहर म┼ उतरे ह╒?

New Delhi / नई िद׃ी

Mumbai / मुंबई

Chennai / चКेई

Ahmedabad / अहमदाबाद

Correct Answer :­Ahmedabad / अहमदाबाद 

32)

Question Stimulus :­

PM Narendra Modi was invited by which country for the inauguration of Salma Dam? /
▀धानम╨ंी नर┼╪ मोदी को कौन स ेदशे ύारा सׁा बाधँ का उद्घाटन करन ेके िलए आमिं╨त िकया?

Sri Lanka / ▓ीलकंा

Afghanistan / अĀगािनּהान

Pakistan / पािकּהान

Russia / ╜स

Correct Answer :­Afghanistan / अĀगािनּהान 

33)

Question Stimulus :­

How many Indian badminton players had qualified to participate in the 2016 Rio Olympics?
/ 2016 δरयो ओलिंपक म┼ भाग लने ेके िलए भारत के िकतन ेबडैिमटंन εखलािड़यो ंन ेअह└ता ▀ाЧ की ह?ै

9

5
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7

3

Correct Answer :­7 

34)

Question Stimulus :­

Who was the Miss World in the year 2000? / वष└ 2000 की िमस वֵ└ कौन थी?

Aishwarya Rai / ऐקया└ रॉय

Priyanka Chopra / ि▀यकंा चोपड़ा

Agbani Darego / अĮानी दरेगो

Yukta Mookhey / य♣ुा मखुी

Correct Answer :­Priyanka Chopra / ि▀यकंा चोपड़ा 

35)

Question Stimulus :­

The _______ IIFA award ceremony was held in June 2016 in Madrid, Spain. /
_______IIFA परुַאार समारोह जनू 2016 मिेड├ड, ּמने म┼ आयोिजत िकया गया था।

11th / 11वाँ

13th / 13वाँ

17th / 17वाँ

19th / 19वाँ

Correct Answer :­17th / 17वा ँ

36)

Question Stimulus :­

Who recently took over as Britain’s second woman Prime Minister? / हाल म┼ ही ि█टने की दूसरी मिहला ▀धानम╨ंी
बनन ेवाली मिहला कौन ह╒?

Theresa May / थरेेसा मे

Nicola Sturgeon / िनकोला э टिज└यॉन
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Harriet Harman / हδैरट हरमनै

Angelia Eagle / एंजिेलया ईगल

Correct Answer :­Theresa May / थरेेसा म े

37)

Question Stimulus :­

The first ever BRICS Employment Working Group meeting in 2016, was held at ____. / 2016 म┼ पहली ि█۵ स
(BRICS) एچ گ लॉयम┼ट विक┤ग ╣पु मीिटगं कहा ँआयोिजत की गई थी?

New Delhi / नई िदی ली

Moscow / माэ को

Hyderabad / हदैराबाद

Beijing / बीिजगं

Correct Answer :­Hyderabad / हदैराबाद 

38)

Question Stimulus :­

How many members are there in the World Trade Organization (WTO)____________. / िवי קापार सगंठन
(डш.ूटी.ओ) म┼ िकतन ेसदּק ह╒________।

145

164

160

150

Correct Answer :­164 

39)

Question Stimulus :­

World ‘Water Day’ is celebrated every year on____. / िवק ‘जल िदवस’ हर वष└ कब मनाया जाता ह?ै

March 20 / माच└ 20

March 10 / माच└ 10
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March 12 / माच└ 12

March 22 / माच└ 22

Correct Answer :­March 22 / माच└ 22 

40)

Question Stimulus :­

India’s first ‘White Tiger Safari’ has opened in ______________ State in India? / भारत की
▀थम ‘सफेद बाघ सफारी’ भारत म┼ ______________  राǿ म┼ खलुी ह।ै

Uttar Pradesh / उΟर ▀दशे

West Bengal / पिמम बगंाल

Tamil Nadu / तिमल नाडु

Madhya Pradesh / मЄ ▀दशे

Correct Answer :­Madhya Pradesh / मЄ ▀दशे 

41)

Question Stimulus :­

On which of the following rivers is the Rana Pratap Sagar dam built?   / राणा ▀ताप सागर बाधं
िनђ म┼ स ेिकस नदी पर बनाया गया ह?ै

Ken / केन

Betwa / बतेवा

Chambal / चबंल

Narmada / नम└दा

Correct Answer :­Chambal / चबंल 

42)

Question Stimulus :­

Which city is known as the ‘commercial capital’ of Madhya Pradesh? / कौन सा शहर मЄ ▀दशे के 'वािणεǿक
राजधानी' के ╜प म┼ जाना जाता ह?ै

Bhopal / भोपाल

Indore / इदंौर
(55)
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Jabalpur / जबलपरु

Gwalior/ Ļािलयर

Correct Answer :­Indore / इदंौर 

43)

Question Stimulus :­

The Finance Minister of Madhya Pradesh is____. / मЄ ▀दशे म┼ िवΟ म╨ंी ह╒___।

Babulal Gaur / बाबलूाल गौर

Jayant Malaiya / जयतं मलयैा

Gopal Bhargawa / गोपाल भाग└व

Umashankar Gupta / उमाशकंर गЧुा

Correct Answer :­Jayant Malaiya / जयतं मलयैा 

44)

Question Stimulus :­

Bateshwar group of temples is located in___. / बटेקर मिंदर समहू ___म┼ εэथत ह।ै

Ujjain / उŬनै

Morena / मरुैना

Khajuraho / खजरुाहो

Ratlam / रतलाम

Correct Answer :­Morena / मरुैना 

45)

Question Stimulus :­

Base of Hexadecimal system is ___. /  षोडशे आधारी पदधित का बसे  ____ह।ै

2

10

16

(56)
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32

Correct Answer :­16 

46)

Question Stimulus :­

Which river is often called ‘Dakshin Ganga’? / िकस नदी को ‘दिāण गगंा’ के नाम स ेजानत ेह╒?

Yamuna / यमनुा

Godavari / गोदावरी

Brahmaputra / █ֿפप╨ु

Narmada / नम└दा

Correct Answer :­Godavari / गोदावरी 

47)

Question Stimulus :­

Myanmar is also known as __________ / ћानमार को _______भी कहा जाता है

Burma / बमा└

Mongolia / मौगंोिलया

Bhutan / भटुान

Vietnam / िवयतनाम

Correct Answer :­Burma / बमा└ 

48)

Question Stimulus :­

Minimum contract size in equity derivatives segment in India is _______ / भारत के इε▫टी
डरेीविेटव खडं म┼ ठेके का Рनूतम साइज़ ह_ै_____

4 lakhs / 4 लाख

8 lakhs / 8 लाख

10 lakhs / 10 लाख

5 lakhs / 5 लाख

(57)
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Correct Answer :­5 lakhs / 5 लाख 

49)

Question Stimulus :­

“Shaurya”, an Indian Coast Guard Ship (ICGS), has been launched by which shipyard of India? / "शौय└", जो एक भारतीय
तटरāक जहाज (आईसीजीएस) ह,ै िकस भारतीय पोत ▀ागंण ύारा श╜ु िकया गया ह?ै

Goa Shipyard Limited / गोवा पोत ▀ागंण िलिमटडे

Naval Dockyard (Vizag) / नौसनेा डॉकयाड└ (वीज़ाग)

Cochin Shipyard Limited / कोचीन पोत ▀ागंण िलिमटडे

Naval Dockyard (Mumbai) / नौसनेा बदंरगाह (मुंबई)

Correct Answer :­Goa Shipyard Limited / गोवा पोत ▀ागंण िलिमटडे 

50)

Question Stimulus :­

Who is the author of 'The Queen of Jhansi' (Jhansir Rani),  published in 1956? / 1956 म┼
▀कािशत, ‘द ▫ीन ऑफ झासँी’ (झािंसर रानी) के लखेक कौन ह╒?

Jaishree Misra / ज▓ैी िमसरा

Christopher Nicole / ि╡ּדोफर िनकोले

Sohrab Modi / सोहराब मोदी

Mahasweta Devi / महाקतेा दवेी

Correct Answer :­Mahasweta Devi / महाקतेा दवेी 

51)

Question Stimulus :­

Choose the correct answer. The multiplicative inverse of ­11/13 is________. / सही उΟर चिुनय|े ­11/13 का
गणुाΫक ▀ितलोम ह_ै______|

11/ ­13

13/11

11/13

­13/11
(58)
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Correct Answer :­­13/11 

52)

Question Stimulus :­

1

1/2

2

0

Correct Answer :­2 

53)

Question Stimulus :­

State the degree of the following algebraic expression. 9x 2y6 ­ 5 x5y ­ 5x5 y2 / िनђ बीजगिणतीय अिभיजंन की िड╣ी
बताइये

7

6

8

9

Correct Answer :­8 

54)

Question Stimulus :­

The complement of 560  ____________0 / 560 का परूक ह_ै___________0

80

(59)
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124

44

34

Correct Answer :­34 

55)

Question Stimulus :­

If   AEB =1400, what is the measure of angle AED? / यिद कोण AEB =1400, तो कोण
AED का माप ℓा ह?ै

1400

2200

400

1800

Correct Answer :­400 

56)

Question Stimulus :­

A dealer packed matchboxes in a circular box, while the other packed match
boxes in a trapezoid shaped box.  Empty space will be ___________ in the
_______________ and hence the capacity of it is _________________ / एक
ापारी न┼ वΟृाकार िडт ेम┼ मािचस के िडт ेपकै कर िदय,े जबिक दूसरे न ेसमलबं आकार के िडт ेम┼ मािचस के िडт ेपकैי
िकय|े खाली जगह______________म┼ _________होगी और इसिलय ेउसकी āमता _____________होगी

less, circular, more / वΟृाकार, कम, ǿादा

less, trapezoid, less / समलबंाभ, कम, कम

more, circular, less / वΟृाकार, ǿादा, कम

more, trapezium, less / समलबं, ǿादा, कम

(60)
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Correct Answer :­more, circular, less / वΟृाकार, ǿादा, कम 

57)

Question Stimulus :­

The capacity of a water tank is 900 liters. If its height is 5m, what is the surface area required to place the tank?
/ पानी की टकंी की āमता 900 लीटर ह|ै यिद उसकी ऊँचाई 5 मी ह,ै तो टकंी को रखन ेके िलय ेपृ״ीय ā╨ेफल ℓा
ह?ै

4500m2 / 4500 मी2

180 m2 / 180 मी2

580 m2 / 580 मी2

360m2 / 360 मी2

Correct Answer :­180 m2 / 180 मी2 

58)

Question Stimulus :­

A boat can travel with a speed of 15km/hour in still water. It travels in a stream which flows on a speed of 5km/hr.
What is the time taken by the boat to travel 60km down the stream? / एक नाव 15 िकमी/घΌ ेके वगे स ेεэथर जल
म┼ या╨ा कर सकती ह|ै वह 5 िकमी/घΌ ेके वगे स े▀वाह कर रही एक धारा म┼ या╨ा करती ह|ै धारा म┼ 60 िकमी या╨ा
करन ेके िलय ेनाव को िकतना समय लगा?

3hrs / 3 घΌे

5hrs / 5 घΌे

6hrs / 6 घΌे

 hrs /   घΌे

Correct Answer :­3hrs / 3 घΌ े

59)

Question Stimulus :­

What is the range of the following data? Data: 40, 35, 20, 15, 60 80,75, 95, / िनђ डाटा का पδरसर  ℓा ह?ै डाटा :
40, 35, 20, 15, 60 80,75, 95,

95

15
(61)
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80

55

Correct Answer :­80 

60)

Question Stimulus :­

Which of the following points lie in the third quadrant of a graph? / ╣ाफ के तीसरे चतथुा┤श म┼ िनђ म┼ स ेकौन से
िबदं ुउपεэथत रहत ेह╒?

 (1, 7)

(­5, ­8)

(­6, 9)

(6, ­7)

Correct Answer :­(­5, ­8) 

61)

Question Stimulus :­

A given mass of water has its maximum density at / जल के एक िनिמत ╪יमान का अिधकतम
घनβ ____________ पर है

0 0C

0 K

4 0C

4 K

Correct Answer :­4 0C 

62)

Question Stimulus :­

Mass numbers of elements are always whole numbers but Atomic masses are not. This is due to the existence of /
तβो ंकी ╪יमान­सġंाएं हमशेा पणू└ सġंाएं होती ह╒ लिेकन परमाण­ुसहंितया ँनही ंहोती। यह इसके अεּהβ के
कारण होता है

Allotropes / अप╜प

(62)
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Isotopes / समэथािनक

Isobars / समदाब

Isomers / समावयवी

Correct Answer :­Isotopes / समэथािनक 

63)

Question Stimulus :­

During electroplating of silver on an iron spoon, / एक लोह ेकी चњच पर चादंी के िवद्युत ्लपेन
के दौरान,

mass of the cathode increases / कैथोड का ╪יमान बढ़ जाता है

mass of the cathode decreases / कैथोड का ╪יमान घट जाता है

mass of the anode increases / एनोड का ╪יमान बढ़ जाता है

concentration of the electrolyte increases / इल۵े ट├ोलाइट का सा╪ंण बढ़ जाता है

Correct Answer :­mass of the cathode increases / कैथोड का ╪יमान बढ़ जाता ह ै

64)

Question Stimulus :­

The colour of phenolphthalein  in basic medium is / āारीय माЄम म┼ िफनोलेژथलैीन का रंग है

Pink / गलुाबी

Red / लाल

Blue / नीला

Green / हरा

Correct Answer :­Pink / गलुाबी 

65)

Question Stimulus :­

Copper Sulphate solution cannot be stored in  an Iron container because / कॉपर
से־ट िविलयन का लोह ेके पा╨ म┼ स╣ंह नही ंिकया जा सकता ह ैℓोिंक

Iron dissolves in copper sulphate soluĕon / लोहा कॉपर से־ट िवलयन म┼ घलु जाता ह।ै

(63)
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Iron crystallizes as ferrous  sulphate / लोहा फेरस से־ट के ╜प म┼ ि╡ּדलीकृत हो
जाता ह।ै

Iron forms Ferric sulphate and  forms a suspension / लोहा फेδरक से־ट
बनाता ह ैऔर िनलबंन बनाता ह।ै

Copper is more reacĕve than iron / ताबंा लोह ेकी तलुना म┼ अिधक अिभि╡याशील ह।ै

Correct Answer :­Iron dissolves in copper sulphate soluĕon / लोहा कॉपर से־ट िवलयन म┼ घलु जाता ह।ै 

66)

Question Stimulus :­

A Metal that burns with a bright white light  on heating to its ignition
temperature is / वह धात ुजो ▀·लन­ताप तक गम└ करन ेपर चमकील ेसफेद ▀काश के साथ जलती है

Sodium / सोिडयम

Potassium / पोटिेशयम

Calcium  / कैεیशयम

Magnesium / मѓै नीिशयम

Correct Answer :­Magnesium / मѓै नीिशयम 

67)

Question Stimulus :­

Which is the stage in cell division, the changes of which are the opposite of prophase?
/ कोिशका िवभाजन की वह कौन सी अवэथा ह,ै िजसके पδरवत└न ▀ोफेज़ के िवपरीत ह╒?

Interphase /  इटंरफेज़

Metaphase / मटेाफेज़

Telophase / टलेोफेज़

Anaphase / ऐनाफेज़

Correct Answer :­Telophase / टलेोफेज़ 

68)

Question Stimulus :­

New blood cells are formed in________ / नई र♣ कोिशकाएं________म┼ बनती ह╒

(64)
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Bone marrow / मŬा

Liver / यकृत

Heart / ╞दय

Lungs / फेफड़े

Correct Answer :­Bone marrow / मŬा 

69)

Question Stimulus :­

The male and female organs in Moss plants are called  as_______ / शवैाल पौधो ंम┼ नर और मादा
अगं कहलात ेह╒_________

Androecium and Gynoecium / पमुगं और जायागं

Antheridium and Oogonium / एАδेरिडयम और अडंजननी

Antheridium and Archegonium / एАδेरिडयम और ּזीधानी

Male cones and female cones / नर शकंु और मादा शकंु

Correct Answer :­Antheridium and Archegonium / एАδेरिडयम और ּזीधानी 

70)

Question Stimulus :­

The science which deals with the similarities and differences in organisms is_____ / वह िवŵान जो जीवो ंकी
समानता और अतंर के साथ सबंिंधत ह_ै______

Ecology / पδरεэथितिवŵान

Genetics / आनवुिंशकी

Heredity / आनवुिंशकता

Eugenics  / सजुनिनकी

Correct Answer :­Genetics / आनवुिंशकी 

71)

Question Stimulus :­

A cricket team consists of 11 players, in which a player weighing 42kg got injured and was replaced by other
player. As a result of it, the average weight of team increases by 100 gram. Find the weight of new player. / ि╡केट

(65)
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की एक टीम म┼ 11 εखलाड़ी ह╒, िजनम┼ स े42 िक╣ा वजन वाल ेएक εखलाड़ी को चोट लग गयी और उसके эथान पर िकसी अР
εखलाड़ी को ल ेिलया गया। इसके पδरणामּת╜प, टीम के εखलिड़यो  ंके औसत वजन म┼ 100 ╣ाम की बढ़ोतरी हो गयी। नए
εखलाड़ी का वजन ŵात कर┼।

44kg / 44िकलो╣ाम

42.1kg / 42.1िकलो╣ाम

43.1kg / 43.1िकलो╣ाम

44.4kg / 44.4िकलो╣ाम

Correct Answer :­43.1kg / 43.1िकलो╣ाम 

72)

Question Stimulus :­

Mr. Joseph shared his investments in his children’s names in the ratio 4:5 and the total
amount is Rs.72,000. What is the investment share of the 1st child? / ▓ी जोसफ न ेअपने
िनवशे को 4:5 के अनपुात म┼ अपन ेबŗो ंके नाम पर साझा िकया एव ंकुल रािश 72,000 ╜० ह।ै पहल ेबŗ ेके नाम पर
िनवशे का िकतना िहֹוा ह?ै

42000

50000

32000

45000

Correct Answer :­32000 

73)

Question Stimulus :­

13/14th of 56 / 56 का 13/14वा ँह:ै

52

58

63

72

Correct Answer :­52 
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74)

Question Stimulus :­

Remainder when you divide 471 by 16 is / जब आप 471 को 16 स ेिवभािजत करत ेह╒ तो शषे:

7

8

5

0

Correct Answer :­7 

75)

Question Stimulus :­

In present ages of Palani and Karthi are in the ratio of 5 : 4 respectively. Three years hence, the ratio of their
ages will become 11 : 9 respectively. What is Karthi’s present age? / वत└मान म┼ पलनी और काित└ की आय ु╡मश: 5 :
4 के अनपुात म┼ ह╒। अत: तीन साल म┼ उनकी आय ुका अनपुात ╡मश: 11 : 9 हो जाएगा। वत└मान म┼ काित└ की आय ुिकतनी
ह?ै

21 years / 21 वष└

24 years / 24 वष└

26 years / 26 वष└

30 years / 30 वष└

Correct Answer :­24 years / 24 वष└ 

76)

Question Stimulus :­

The ratio of the present ages of two sisters is 1 : 2 and 5 years back, the ratio was 1 : 3. What will be the ratio of
their ages after 10 years? / वत└मान म┼ दो बहनो ंकी आय ुका अनपुात 1 : 2 ह ैऔर 5 साल पहल,े अनपुात 1 : 3 था। 10
साल बाद उनकी आय ुका अनपुात ℓा होगा?

1 : 2

2 : 4

3 : 5

2 : 3

(67)
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Correct Answer :­2 : 3 

77)

Question Stimulus :­

If Rs. 2,80,000 is the 2/7 percent of cost of a house, then the value of the house is / यिद एक मकान की लागत
का 2/7 ▀ितशत 2,80,000 ╜० ह,ै तब मकान का मूׂ  ह:ै

Rs. 9,80,000

Rs. 8,00,000

Rs.10,00,000

Rs.12,00,000

Correct Answer :­Rs. 9,80,000 

78)

Question Stimulus :­

Fill in the missing alphabets  / लЧु अāर भδरए

a__abaa__baaa__

b, b, b

a, a, b

b, a, a

a, b, a

Correct Answer :­a, a, b 

79)

Question Stimulus :­

31% of 400  is / 400 का 31% ह:ै

124

134

144

154

(68)
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Correct Answer :­124 

80)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / िनђ चार पतो ंम┼ स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906­5779

  

(i)   Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906­5779

     

(ii)  Arthur Muray Dance Studio

256 Hayne St N
Blackville, SC 29017

(866) 906­5779

  

(iii) Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906­5779

 

(iv) Arthur Murray Dance Studio

256 Hayne St N
Blackville, SC 29817

(866) 906­5779
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i

ii

iii

iv

Correct Answer :­ii 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the other
three? / िनђ चार पतो ंम┼ स ेकौन सा एक बाकी तीन के एकदम समान नही ंह?ै

Technical Information Ltd

No. 12, Natal Raod

Belgravia

P.O. Box 4620

Harrare

ZIMBABWE

 

1. Technical Information Ltd

                    No. 12, Natal Raod

                    Belgravia

                    P.O. Box 4620

                    Harare

                    ZIMBABWE

 

1. Technical Information Ltd

                    No. 12, Natal Raod

                    Belgravia

                    P.O. Box 4620

                    Harare

(70)
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                    ZIMBABWE

 

1. Technical Information Ltd

                    No. 12, Natal Raod

                    Belgravia

                    P.O. Box 4620

                    Harrare

                    ZIMBABWE

1. Technical Information Ltd

                    No. 12, Natal Raod

                    Belgravia

                    P.O. Box 4620

                    Harare

                    ZIMBABWE

i

ii

iii

iv

Correct Answer :­iii 

82)

Question Stimulus :­

If a man is running at a speed of 18 kmph, what is the distance traveled by the man in 5 min? / यिद एक יε♣ 18
िकमी ▀ितघटंा की गित स ेदौड़ता ह ैतो 5 िमनट म┼ वह िकतनी दूरी की या╨ा करता ह?ै

1000 m / 1000 मीटर

1500 m / 1500 मीटर

2000 m / 2000 मीटर

2500 m / 2500 मीटर

(71)
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Correct Answer :­1500 m / 1500 मीटर 

83)

Question Stimulus :­

A manufacturer manufactured cycles by spending Rs.1200 each. His overhead expenses was Rs.200 for each
cycle. He sold 5 cycles of Rs.1850 each cycle. What is its profit? / एक उΧादक न े▀έके साईकल पर ╜पय े1200
खच└ कर के साईकलो ंका उΧादन िकया। ▀έके साईकल पर उसका उपरी יय ╜पय े200 था। उसन े5 साईकलो ंको
╜पय े1850 ▀έके म┼ बचे िदया। उस ेिकतना लाभ ╟आ?

2250

2350

2450

2550

Correct Answer :­2250 

84)

Question Stimulus :­

Find the next term in the series 2,12,3,23,4,34,5,_______ / ▓खंला म┼ अगला पद ŵात कीिजए 2,12,3,23,4,34,5,_______

35

45

55

65

Correct Answer :­45 

85)

Question Stimulus :­

Find the next term in the series. / ▓खंला म┼ अगला पद ŵात कीिजए

3, 4, 13, 38, 87, 168,?

295

292

289

(72)
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290

Correct Answer :­289 

86)

Question Stimulus :­

In a certain language ‘hist men polt’ means ‘my history book’  and ‘polt hosg disa’ means
‘history of India’ . Then in that language the word  ‘polt’ is used for: / िकसी खास भाषा म┼ ‘hist
men polt’ का मतलब ह ै‘my history book’  और ‘polt hosg disa’ का मतलब ह ै‘history of India’। तो
उस भाषा म┼ शо ‘polt’ इसके िलए ▀योग होता ह:ै

my

book

history

India

Correct Answer :­history 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े╡म म┼ अगली आकृित कौन सी होगी?

(73)
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Correct Answer :­  

88)

Question Stimulus :­

Introducing Rahim, if Saira says, “Rahim’s brother’s father is the only son of my grandfather”, then, how is Rahim
related to Saira? / रहीम का पδरचय दते े╟ए, यिद साइरा कहती ह,ै “रहीम के भाई के िपता मरेे दादा के इकलौत ेबटेे
ह╒”, तो, रहीम साइरा स ेकैस ेसबंिंधत ह?ै

Father / िपता

Son / बटेी

Uncle / अकंल

Brother / भाई

Correct Answer :­Brother / भाई 

89)

Question Stimulus :­

A + B means that A is the husband of B / A + B का मतलब ह ैिक A, B का पित है

A > B means that A is the sister of B / A > B का मतलब ह ैिक A, B की बहन है

A = B means that A is the father of B / A = B का मतलब ह ैिक A, B के िपता ह╒

A ­ B means that A is the mother of B / A ­ B का मतलब ह ैिक A, B की माता है

If the relationship between P and T is represented as P = Q > R ­ S + T, then, which of the
following statements will be always TRUE? / यिद P और T के बीच का सबंधं P = Q > R ­ S + T से
दशा└या गया ह,ै तो, िनђ म┼ स ेकौन सा कथन हमशेा सέ होगा?
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Q is the father of S. / Q, S के िपता ह╒।

T is the grandson of P. / T, P का पोता ह।ै

S is the son of Q. / S, Q का बटेा ह।ै

T is the daughter­in­law of R. / T, R की ब╟ ह।ै

Correct Answer :­T is the daughter­in­law of R. / T, R की ब╟ ह।ै 

90)

Question Stimulus :­

Find how Alam is related to Nur Jahan, if he says, “Nur Jahan is the wife of the grandson of my mother.” / पता
लगाइय ेिक आलम नरू जहा ँस ेकैस ेसबंिंधत ह,ै यिद वह कहता ह,ै “नरू जहा ँमरेी माता के पोत ेकी पΤी ह।ै”

Father / िपता

Grandfather / दादा

Husband / पित

Father­in­law / ससरु

Correct Answer :­Father­in­law / ससरु 

91)

Question Stimulus :­

Which of the following is the mirror image of CABINATE? / िनђ म┼ स ेकौन सा CABINATE का दप└ण ▀ितिबѕ ह?ै

Correct Answer :­  

92)

Question Stimulus :­

(75)
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In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िनђ ▀ע म┼, पहल ेशо का दूसरे शо के साथ िकसी ▀कार स ेकोई सबंधं ह।ै यिद तीसरे शо का चौथ ेशо के
साथ उसी ▀कार का सबंधं होना चािहए, तो चौथा शо होगा:

Reveal : Disclose :: Autonomy : ? / ▀कट : खलुासा :: ּתायѝ तता : ?

Slavery / गलुामी

Dependence / िनभ└रता

Liberty / ּתत╨ंता

Machine / मशीन

Correct Answer :­Liberty / ּתत╨ंता 

93)

Question Stimulus :­

How many different ten letter words can be formed using the letters of the word ‘STATISTICS’ if repetition is
not allowed? / यिद पनुराविृΟ की अनमुित नही ंदी जाए तो ‘STATISTICS’ शо के अāरो  ंका ▀योग करत े╟ए िकतन ेिभК
▀कार के दस अāर वाल ेशоो ंका िनमा└ण िकया जा सकता ह?ै

25200

75600

50400

100800

Correct Answer :­50400 

94)

Question Stimulus :­

What is the day on 1 June 2080? / 1 जनू 2080 को कौन सा िदन होगा?

Monday / सोमवार

Tuesday / मगंलवार

Saturday / शिनवार

Thursday / ग╜ुवार

(76)
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Correct Answer :­Saturday / शिनवार 

95)

Question Stimulus :­

Four officers are posing for a photograph. Shekhar is immediately to the left of Ranjit. Manoj is to the right of
Shekhar. Rashid is between Ranjit and Manoj. Who would be at the extremes of the photograph? / चार ऑिफसर
एक तּתीर εखचवान ेके िलए खड़ ेह╒। शखेर, रंजीत के तरुंत बायी ंतरफ ह।ै मनोज, शखेर के दायी ंतरफ ह।ै रशीद,
रंजीत और मनोज के बीच म┼ ह।ै तּתीर की अिंतम सीमाओ ंपर कौन होगा?

Manoj and Shekhar / मनोज और शखेर

Rashid and Shekhar / रशीद और शखेर

Rashid and Manoj / रशीद और मनोज

Manoj and Ranjit / मनोज और रंजीत

Correct Answer :­Manoj and Shekhar / मनोज और शखेर 

96)

Question Stimulus :­

Select the statement which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तक└ की ۴εנ स ेिदय ेगय ेकथन के समान ह:ै

If we go to zoo, then we can see an elephant. / यिद हम िचिड़याघर जाय┼, तो हम हाथी को दखे सकत ेह╒।

If we go to the zoo, then we cannot see an elephant. / यिद हम िचिड़याघर जाय┼, तो हम हाथी को नही ंदखे
सकत।े

If we do not go to the zoo, then we cannot see an elephant. / यिद हम िचिड़याघर नही ंजात,े तो हम हाथी को
नही ंदखे सकत।े

If we saw an elephant, then we had gone to the zoo. / यिद हमन┼ हाथी दखेा, तो हम िचिड़याघर गय ेथ।े

If we didn’t see an elephant, then we haven’t gone to the zoo. / यिद हमन┼ हाथी नही ंदखेा, तो हम िचिड़याघर
नही ंगय ेथ।े

Correct Answer :­If we do not go to the zoo, then we cannot see an elephant. / यिद हम िचिड़याघर नही ंजात,े
तो हम हाथी को नही ंदखे सकत।े 

97)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ
चिुनय ेजो तक└ की ۴िױ स ेनीच ेिदय ेगय ेकथन के समान ह:ै
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This animal has a shell or it isn’t a turtle. This animal is a turtle. / इस जानवर के पास शखं ह ैया यह
कछुआ नही ंह।ै यह जानवर कछुआ ह।ै

This animal has a shell. / इस जानवर के पास शखं ह।ै

This animal likes to swim. / इस जानवर को तरैना पसदं ह।ै

This animal doesn’t have a shell. / इस जानवर के पास शखं नही ंह।ै

None of the above. / उपरो♣ कोई नहीं

Correct Answer :­This animal has a shell. / इस जानवर के पास शखं ह।ै 

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given. / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिनתष╗ के बारे म┼ सही ह╒:

Statements: / कथन:                     

Some tables are fables. / कुछ मज़े कहािनया ँह╒।

All fables are cables. / सभी कहािनया ँकेबल ह╒।

Conclusions: / िनתष└:

I.  All tables are cables. / I.  सभी मज़े केबल ह╒।

II. Some tables are cables. / II. कुछ मज़े केबल ह╒।

I alone is true / केवल I सέ है

II alone is true / केवल II सέ है

Both I and II are true / दोनो ंI और II सέ है

Neither I Nor II is true / न तो I और न ही II सέ है

Correct Answer :­II alone is true / केवल II सέ ह ै

99)

Question Stimulus :­

Select the option that is true about the statements and conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिनתष╗ के बारे म┼ सही ह╒:

Statements: / कथन:

Some pink are ruby. / कुछ गलुाबी ╜बी ह╒।
(78)
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Some pink are garnet. / कुछ गलुाबी गान═ट ह╒।

Conclusions: / िनתष└:

I. Some garnets are ruby. / कुछ गान═ट ╜बी ह╒।

II. All garnets are ruby. / सभी गान═ट ╜बी ह╒।

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / िनתष└ I और II दोनो ंिनकलत ेह╒

None of the conclusion I and II follows / िनתष└ I और II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I and II follows / िनתष└ I और II म┼ स ेकोई नही ंिनकलता ह ै

100)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिनתष╗ के बारे म┼ सही ह╒:

Statements: / कथन:

All my neighbours are very friendly / मरेे सभी पड़ोसी ब╟त ּלहेशील ह╒

Richard is not friendly / δरचाड└ ּלहेशील नही ंहै

Conclusions: / िनתष└:

I. Richard is not my neighbour / δरचाड└ मरेा पड़ोसी नही ंहै

II. Richard must be friendly / δरचाड└ ּלहेशील होना चािहए

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / िनתष└ I और II दोनो ंिनकलत ेह╒

None of the conclusion I and II follows / िनתष└ I और II म┼ स ेकोई भी नही ंिनकलता

Correct Answer :­Only conclusion I follows / केवल िनתष└ I िनकलता ह ै

(79)
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